BAZEMJFAU-18Y vy H—1) —J2024@ERILT » —RA +RF7—Y IR

g | w8 S F—I 237 F—A 218 =Y
10:00 “AREE| O - 2 B R3rd BE%R2nd
. = = Y /A oML
13:00 1% 1 - 3 BERE2nd LS TEE S
1 |4/29(8) - —
10:00 sE®RE2Nd 3 - 2 BE BARY - KAZE
. - § \ —AIB -
13:00 ZEfm |6 - O BEAY - FALR P
9:30 BEmZ |0 - O BEAY - KALE BET#2nd
11:00 wE®E2nd | 4 - 2 =8 FEISTEE BARK « *ARE
12:30 BOYeER3rd] 4 - O BET2Nd B
2 | 5/3&) = —
9:30 BEmM O - 5 1% BE/ME2Nd
11:00 _KAM=EE |2 - 2 rEI= T BEME %
12:30 hE O - O BEMKIE2Nd BEM
9:30 BERk BB | O - 2 B W /NE Sk Pz
) — +783 R
1 1 OO *% 1 - 2 ?@%@ZE%an (EIH&TA%E) —$$L\§é¥
12:30 IWEE3d| 5 - 0 P BERIZ2Nd
3 | 5/6(8) = — -
14:00 BB |3 - O BEE B3 BET22Nd
15:30 2E 2 - A BET#ond| @S =T
15:30 sEE2ond |3 - 2 EEEE |+AE2® BET
9:30 BB |2 - O BE®E2Nd BARK - KAZE
1100 mem |1 - 0| —ammg | USS BBE2Nd
12:30 B R3rd] 8 - O BARK * ABR W /NESE-—
4 |5/18(%) —
10:00 P& O - 83 =8 1%
: = - S P -
11:30 *EB\%?%% O 4 *aa%@?ﬂ%Zhd (@3@) *EB\%
13:00 seT2o2nd| O - 3 % BERIZE2N
9:30 ‘BEI¥2ONd| O - 3 e BEME
) N +783 —
12:30 BARk BB | 2 - 2 2Em PE
5 | 6/8(1) — —
14.00 B8 o - 1 B2 0% 3rd 483 BE/MEZ2Nd
15:30 BZEFm |2 - 0 semEond ©S HO3 SR 3rd
14:30 wB8®s=2nd | O - O ZARMEE |+HNB2(R) BERX « ¥ARR
9:30 ®em |7 - O ®eT#ond| 4m3 3205 3rd
11:00 Zem o - 13 Hoy ey | (RS BET2ond
12:30 mEmiEend| 3 - —FEE | 4 rums EeE
6 |6/15(1) - (EERNIZ) —
14:00 P 2 - 3 wmemy | esix B N NESE
9:30 1% 1 - A1 re= +NB2 BE%R2nd
11:00 Bk -fgE [ O - 2 me®Eond | B =E




BAZEMJFAU-18Y vy H—1) —J2024@ERILT » —RA +RF7—Y IR

& | 28 B5R F—1I\ 237 F—1I g 2|
9:30 EEmt 1 - A1 B8 +7NB2 BEIZ2Nd
11:00 —AmE2 3 - 0 mETEoNd| BSEH 28
12:30 % 0o - 3 BG4 om0 BERY + TASR
7 |6/22(1) — s
14.00 B|EKE2NHl O - O BEAY « ¥ABE = B0 0R3rd
9:00 FE O - 2 280 P B8%2nd
10:30 Ze®m (o - 3 meEond | (FE BB
9:30 Boye3d| 4 - O ®EE2nd | 4 ruad BEFh
11:00 BE o - 3 mem | EEFR BEH2Nd
12:30 % 1 - O T +7B1 BEIZE2Nd
8 |6/29(1) - () -
14:00 B -t |1 - O BETEIN : e
13:30 semEond] 5 - 1 BB | —%mA — AR
1500 P 1 - 5 —hgy |(BEME 2a8
10:00 sem |3 - 2 BET%2nd — AR
7/6(1) | 11:30 BEH |4 - % | mes | ®BIE2nd
o 13:00 Be 1 - 3 — AR %
9:30 meEond | 1 - 1 BEMEINd P
778 | 11:00 gem2 |0 - 2 HoysspEsy j;é‘%jgg) BERIE2Nd
12:30 B -t |1 - 3 P 03202 3rd]
8:30 —A=E |0 - O % N BERY - TARE
10:00 ] 1 -0 BERL - tag | (—AAR) 1
11:30 meT#ondl 0 - 2 BEE2nd | —Zma EERg
10 | 7/13(%) — = (BEI%E =
13:00 se®m |5 - 0 sany |B B8®EoNd
9:00 Pz 1 - 2 28m P B0 MR3rd
10:30 semiEond| 0 - 1 moyssiegg| () BB
9:30 moy3rd| O - A 287 EERg
1100 |  @&®2nd [ 4 - 1 PE | g B8m
12:30 k=% | 4 - O Sar Pz
11 | 7/20(1) —
9:30 B -k |1 - 3 i 28
. - - — +7B2
1 1 OO %’EE%I%ZHC{ 1 2 *E%&E%Zhd (Bﬂmﬁiﬁa) *%
12:30 sem |4 - 3 a8 BEKENd




